Thinking Activity 7

Ajay bought 3 items, but he accidentally tore the receipt.
He paid with a $50 note and received some change.

Receipt
Backpack $21.50
Art Supplies  $14.70
Sharpener
Total

Based on the information given, each of the following statements

is either True, False or Not possible to tell.
For each statement, put a tick (V') in the correct column.

Statement True | False | NOt possible
to tell

(a) The cost of the backpack was $21
when rounded to the nearest $1.

(b) The sharpener cost more than $10.
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